FERTETRE Y —ER (BERM) Y —EXa—FR

HY—EZXa—F

15548

P

Y—ERAEIEH WEER ﬁjﬁﬁ WEEf
#EH | ®E #HtE
A7 1001 |EEZMBHRES—ER1/18] A BRREY—ERE (REEN) BENRE-EXE1-XE2081EE) 90%| 1.992
A7 1088 [ERTEREY—ERLBHEME /13| (M EBENBREMHE(T) FRE BRI (59/1000 hNE 90% 72
A7 | 1090 [BRFERBY—ERNBREZMEDT 18] 0 NEBELERENE (DN EBELEHEMHE(D) FTE B8 D43/1000 IIE 90% 53
A7 | 1092 |EFEMBY—ERNEREMEDL 15 (N FEM B AiEeEMHE (M) FTE B %8 23/1000 NE 90% 28 | 1AIZDE
A7 1098 [@ATE! —EREFELBHEME L 1E MNEBEFHELEREMECD) A FE B 1%k 12/1000 90%
Tﬁfﬁ WmEY »\ 'ﬁzkﬁﬂ&z mE *1 PP T ﬂzéh‘%tf%# f ‘351 " fﬁz%u?ﬂw) / mE 15
A7 | 1100 |@EFEMEY—ERBELERENEL 135 (DN EBE FRHELNEHEME(D) FTEB I8 10/1000 NE 90% 12
A7 1102 |(EEZMEMEY—ERR—RF7yIME 15| = NEBEEA—XRTYITEXIENE NEBBER—RT7YITEXEME FTEERIZRD11/1000 ME 90% 13




FERTETRE Y —ER (BERM) Y —EXa—FR

HY—EZXa—F

2%|5i8

P

Y—ERN B WEER e WEEf
#EH | ®E =
A7 1301 |EEZMBHRE Y —ER1. /28] A BRREY—ERE (REEN) BENRE-EXE1-XE2081EE) 80%| 1292
A7 | 1388 |BRIEMRBH—ERMBHREZME 128 (ONEBELEHEMHE(TD) AT B3k 59/1000 ME 80% 72
A7 | 1390 [BRFEMRBY—ERMBREZME D 28| 0 NEBELERENE (DN EBELEHEMHE(D) FTE B8 D43/1000 IIE 80% 53
A7 | 1392 |[EFEMBY—ERNEREMEL 2E (N FEM B AiEeEMHE (M) FTE B %8 23/1000 NE 80% 28 | 1AIZDE
A7 1398 [@ATE! —EREFELBREME [ 28 MNEBEFHELEREMECD) A FE B 1%k 12/1000 80%
Tﬁfﬁ WmEY »\ 'ﬁzk:ﬁﬂ&z mE *1 PP T ﬂzéh‘%tf%# f ‘351 " fﬁz%u?ﬁw) / mE 15
A7 | 1400 |EFEMBY—ERBELEHEMEL 235 (DN EBE FRHELNEHEME(D) FTEB I8 10/1000 NE 80% 12
A7 1402 |EEZBIERMEY—ERR—RF7yIME 25| = NEBEEA—XRTYITEXIENE NEBBER—RT7YITEXEME FTEERIZRD11/1000 ME 80% 13




FERTETRE Y —ER (BERM) Y —EXa—FR

HY—EZXa—F

3%I&i8

P

Y—ERN B WEER e WEEf
#EH | ®E =
A7 1601 | EEZMBAHRE S —E X1, 738 A BRREY—ERE (REEN) BENRE-EXE1-XE2081EE) 70%| 1.992
A7 | 1688 |BRIERBH—ERMBHREZME 133 (ONEBELEHEMHE(TD) AT B3k 59/1000 ME 70% 72
A7 | 1690 [BRFEMRBY—ERMBRZME D3] 0 NEBELERENE (DN EBELEHEMHE(D) FTE B8 D43/1000 IIE 70% 53
A7 | 1692 |EFEMBY—ERNEREMEL 3% (N FEM B AiEeEMHE (M) FTE B %8 23/1000 NE 70% 28 | 1AIZDE
A7 1698 [@ATE! —EREFELBREME [ 3E MNEBEFHELEREMECD) A FE B 1%k 12/1000 70%
Tﬁfﬁ WmEY »\ 'ﬁzk:ﬁﬂ&z mE *1 PP T ﬂzéh‘%tf%# f ‘351 " fﬁz%u?ﬁw) / mE 15
A7 | 1700 |EFEMBY—ERBELEHEME D 3F (DN EBE FRHELNEHEME(D) FTEB I8 10/1000 NE 70% 12
A7 1702 |EEZIEREY—ERR—R7vIME 3% = NEBEEA—XRTYITEXIENE NEBBER—RT7YITEXEME FTEERIZRD11/1000 ME 70% 13




